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wman | mpaw | swen | swe | wmew | swen | asan | ees | ween | seaw | swen | sws
(MBI LEEUES 1)
A 70/ OO— B 100 97 2] 845 81 81 e 19 16 5] 31.3
EELEEREHENER 79 7 68| 895 75 72 67 931 4 4 1] 20
LRERGIAS EHAZH 39 38 3| 914 3 35 R 4 3 3 100.0
EREMELENER M 31 3 8| 69 31 31 2 [ 617 6 5 2| 40.0
ERERRERLATR 29 21 2| 7.8 22 2 18] 8.8 7 5 3] 0.0
RBEMEEEPIER 33 32 26| 813 31 30 5| 833 2 2 1] 500
R RERBENERIEY 39 38 o] 19 30 30 24| 80.0 9 8 6] 5.0
S CopaBmLR 31 31 28| 903 27 21 5| 926 4 4 3] 10
ABEREAEMER 3 33 2| 9.0 33 32 3| 969 1 i 1] 1000
ERAFE SRR MEES 26 2 26| 100.0 26 2 26 [ 100.0 o - - -
EREFELEPER 41 41 TN 37 37 2| 865 10 10 5] 50.0
EnER 30 30 n| 167 4 24 21| 815 6 6 NEEE
RRERBPER 49 48 ] 896 43 42 4| 916 6 6 NEEE
BREDHLHWEIER 39 39 39 | 100.0 38 38 38 [ 100.0 1 i 1] 1000
RESELEPIER 38 M 2| 8.3 29 2 %5 96.2 9 8 4| 50.0
FEEREEMER 24 24 2] 9.7 2 20 20 [ 1000 4 4 2 [ 50.0
EEEREREPIER 12 12 o[ 10 10 10 o[ 9.0 2 2 0 0.0
ERESELENER LR 16 16 5] 938 13 13 13] 1000 3 3 2| 667
ERERTLEMER 48 46 | 957 44 42 4| 916 4 4 3[ 10
EHEEY 30 30 28] 933 25 25 25 [ 1000 5 5 3 60.0
*RER 2 2 24| 9.0 25 25 24| 96.0 o - - -
RAEREMER 125 119 116 | 97.5 115 109 108 | 99.1 10 10 8] 80.0
ARBREPIER AR 28 28 u| &1 28 28 u| 8.7 o - - -
WRERELEMER SmEf 40 40 40 [ 1000 40 40 40 | 100.0 o[ - - -
BUERFPER 12 12 12| 1000 1 1 11| 1000 1 1 1] 100.0
HRER - AR—UFMPR 35 29 27 931 33 27 21 [ 1000 2 2 0 0.0
LBAEURREMER 142 140 122|871 112 111 106 | 95.5 30 29 16| 552
BARBERUNEUT—S 3 VR 32 3 2| 1000 32 3 32| 100.0 o[ - - -
HARERTER 3 3 B| 67 30 30 21 700 5 5 2| 40.0
i 1.254] 1,220  1082] 88.7] 1.100] 1,076]  1006] 935 154 144 76|  52.8
(AN EEEUESE 2 %)
L EAEEEER 31 3 31| 100.0 31 31 31 1000 of - - -
BRI AR 7 7 7] 1000 7 7 7] 1000 of - - -
B AME 2 2 2| 100.0 2 2 2| 1000 o - - -
i 40 40 40| 100.0 40 40 40| 100.0 0 0 e
(MBI LAEUES 3 S)
RABIEAY REHPEREEEREH 27 2 21 0.8 2 24 0] 8.3 3 2 1] 500
TEHFAY BHEEEN 23 2 18] 783 16 16 | 815 1 7 4| s
FRERAY REERR AP 123 104 96| 923 115 % | 027 8 8 1| 815
BHAT REEH 54 54 51 044 50 50 9] 980 4 4 2| 50.0
ErEky HETH 153 145 139 959 145 137 134 918 8 8 5] 625
BEAT EREATH 52 52 52| 100.0 52 52 52| 100.0 o] - - -
BAKARY RREFEH 13 69 63| 913 65 61 8] 951 8 8 5] 625
FRERBIAS EREHTH 54 53 52| 8.1 53 52 52 100.0 1 1 0 0.0
e 50 50 3] 6.0 50 50 8] 8.0 o] - - -
BEAT ERREHEH 43 43 43| 100.0 39 39 39 | 100.0 4 4 4] 100.0
AT HEHEE 53 52 52| 100.0 52 51 51 100.0 1 1 1] 100.0
WARBERAY RREFEH 59 57 5| w7 55 53 51 962 4 4 3] 150
BEENHERE EHHEH 10 10 9| 0.0 9 9 9| 100.0 1 1 0 0.0
LRERAY REERTH 39 3 37| 100.0 39 37 31| 100.0 o] - - -
REXE EREH 18 18 2] 667 12 12 0] 83 6 § EEE
mEAY BEEREHEH 51 50 8| 9.0 49 48 ] 958 2 2 2| 100.0
R B2 i 1 1] 1000 I - - 1 1 1] 1000
WRAE ESE i o - - o - - - 1 o] - -
i 884 844 791 937 85| 787 754] 958 59 57 37 649
(REREEERUEE 4 7)
ARTHIR MEHSEEWR 31 31 0] 9.8 30 30 29| 967 1 1 1] 100.0
AERMBER HERSTELRE 30 30 30 [ 100.0 30 30 30 | 1000 o] - - -
REABEANER HERHTELRE 49 49 49 | 100.0 49 49 49 [ 100.0 I - -
BERB IR 551 551 551 | 100.0 551 551 551 | 100.0 o] - - -
AT BARGTRNER 24 24 24 | 100.0 24 24 24 | 100.0 o] - - -
EERT HENGTER 40 40 40 [ 100.0 40 40 40 | 100.0 o] - - -
FOTHBER HERHTELRE 28 28 28 [ 100.0 28 28 28 | 100.0 o] - - -
ABTHBR BEFMRAENELY S — 99 9 99 [ 100.0 % 99 99 | 1000 o] - - -
RERABTR HANSTERERE 49 49 49 [ 100.0 49 49 49 [ 100.0 o] - - -
BETHBER HANS LR 38 38 38 | 100.0 38 38 38| 1000 o] - - -
HERD AN 198 198 198 | 1000 193 193 193 | 100.0 5 5 5] 1000
i 1.137]  1.137]  1.136]  99.9 | 1.131] 1.131] 1.130] 99.9 § 6 6] 100.0
Bt 3,315 3,241 3,049] 941 ] 3,096 3,034 2930 96.6 219 207 19| 5.5
ot 14 14 5] 3.7 o] - - - 14 14 5] 357
Al 3,320 3,255| 3,054 93.8| 3,006 3,034 293 966 233 221 124 56.1




